107!

1072

107

10

Ratio

1.2

14F

£
0.8F

-10 —8 6

—42

Ratio

[ pull of goverp parameter |

107!

1072

107

10

1.2

=

':r-'p".'i.'-'v':t'f'q.'uw.-"c:"".t""
te .
]

0.8

~10 —8 6

-4 -2 0 2 4 6 8 10

|— DOM_CKF_TTDhase

=== DQM_CKF_TT_retrainOldFiles125 v2_prelimWPM_epoch4 |

[ pull of @parameter |

107}

1072

1073

.9 J..L;I

T E

[h l.l:—'
1;_."‘:""'é""‘:""":'h""é'".';‘"_:h".'(:""‘;""
0NGTE 6 4 30 2 4 6 B 10

[ pull of dxy parameter

107}

1072

10™

1.2

Ratio

0.9

1.

=
A" LAY LA

0.8

P
& n
NN

[ pull of 6 parameter |

rles 0.0
10_1 | onslam 852
E gines iy 06??
: onstant _8 {8% g
(I SR SRS o | SRS 13 F I i

1073

Ratio

rnes
oo | Seey
- . . . . . . onstant
: : : : : : fil

~ﬂ%wﬁ
. onstant 8
D[ o4

107
9 J..J.:I L h
T E :
© :
| SO AU S ---------------------
O I N e e T



	Contents
	Page 1


